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QUESTION 1

Refer to the exhibit. 

A network engineer deploys two different DHCP pools in an Instant AP (IAP) cluster for WLANs that will have
connectivity to a remote site using Aruba IPSec. 

Based on the output shown in the exhibit, which IAP-VPN DHCP modes are being used? 

A. distributed L3 and centralized L3 

B. distributed L3 and local L3 

C. distributed L3 and centralized L2 

D. local L3 and centralized L2 

Correct Answer: C 

 

QUESTION 2

A network administrator assists with the migration of a WLAN from a third-party vendor to Aruba in different locations
throughout the country. In order to manage the solution from a central point, the network administrator decides to deploy
redundant Mobility Masters (MMs) in a datacenter that are reachable through the Internet. 

Since not all locations own public IP addresses, the security team is not able to configure strict firewall policies at the
datacenter without disrupting some MM to Mobility Controller (MC) communications. They are also concerned about
exposing the MMs to unauthorized inbound connection attempts. 

What should the network administrator do to ensure the solution is functional and secure? 

A. Deploy an MC at the datacenter as a VPN concentrator. 

B. Block all ports to the MMs except UDP 500 and 4500. 

C. Install a PEFV license, and configure firewall policies that protect the MM. 

D. Block all inbound connections, and instruct the MM to initiate the connection to the MCs. 

Correct Answer: C 
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QUESTION 3

Refer to the exhibit. 

A company acquires ten barcode scanners to run inventory tasks. These Wifi devices support WPA2-PSK security only.
The network administrator deploys a WLAN named scanners using the configuration shown in the exhibit. 

What must the network administrator do next to ensure that the scanner devices successfully connect to their SSID? 

A. Add scanner MAC addresses in user derivation rules. 

B. Add scanner MAC addresses in the internal database. 

C. Set internal as the MAC authentication server group. 

D. Enable L2 Authentication Fail Through. 

Correct Answer: C 
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QUESTION 4

Refer to the exhibit. 

A network administrator configures a Mobility Master (MM)-Mobility Controller (MC) solution and integrates it with
AirWave. The network administrator configures the SNMP and terminal credentials in the MM and MC, and then
monitors the mobility devices from AirWave, including Clarity for user association and basic network services
verification. However, AirWave does not display any UCC data that is available in the MM dashboard. 

Based on the information shown in the exhibit, which configuration step should the network administrator do next in the
MM to complete the integration with AirWave? 

A. Define AirWave as a management server in the MM. 

B. Enable the inline network services statistics in the AMP profile. 

C. Enable UCC monitoring in the AMP profile. 

D. Verify the papi-security key in the AMP profile. 

Correct Answer: B 
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QUESTION 5

Refer to the exhibit. 

A user reports show response time to a network administrator and suggests that there might be a problem with the
WLAN. The user\\'s laptop supports 802.11n in the 2.4 GHz band only. The network administrator finds the user on the
Mobility Master (MM) and reviews the output shown in the exhibit. 

What can the network administrator conclude after analyzing the data? 

A. Client health is low, and retried frames are high. It is possible there is high channel utilization. 

B. Client health is low, but SNR is high. It is possible data in the dashboard is not accurate and needs to be updated. 

C. The speed is good. Client health seems to be related to a problem with the client NIC. 

D. The network is low because of low SNR. TX power must be increased in both the client and the AP. 

Correct Answer: B 
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